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1) Y +x+2y—-1=0

1) Parabola
X= —(y + 1)2 + 2
Vertex: @ —1)

Focus: (Z, —1)
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10) y* +x-6y+6=0

10) Parabola
= —(y — 3)2 + 3
Vertex: (3, 3)
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Focus: (—, 3)
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Latus Rectum: 1 unit

D wechtiy

[ !

g

‘Z[-l-'"f.?
&)

A=y




8) —4x* +9y* +8x—18y—-31=0
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Vertices: (1, 3), (1,-1)
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Hyperbola
G-1° G-1
4 9

Center: (1 1)
Vertices: (1 3) ( )

Foci: (1 1+\ﬁ)(

Latus Rectum: 9 units
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15) x2 - y*+2x-2y-15=0

15) Hyperbola
(x+ 1)2 _ (y+ 1)2 _
By o
Center: (—1,.9) \‘- ﬁ )
Vertices: (—1 + \/E, —1), (—1 - '\/E, —1)

Foci: (-1 + /30, 41), (-1 — /30, 1)




